Exponential Decay Report (Compact)

Table: All Values

T=0.0, C=66.7, HTx=24.6
T=10.0, C=12.9, HTx=45.4
T=15.3, C=9.2, HTx=54.7
T=46.0, C=7.4, HTx=45.7
T=50.0, C=6.8, HTx=46.9
T=62.0, C=4.3, HTx=73.0
T=71.5, C=5.5, HTx=40.2
T=114.0, C=2.6, HTx=inf

Table: Early Values (x=0,1,2, terminal=2)

T=0.0, C=66.7, HTx=5.4
T=10.0, C=12.9, HTx=10.9
T=15.3, C=9.2, HTx=nan

Summary of Key Values

HT-A = 5.2 hours

HT-D = 45.6 hours

HT-AVG (from HT3, HT4, HT6) = 44.3 hours
C_A(168) = 0.0

C_D(168) =1.18

Curve A and Updated Curve D with Half Lives

Curve A and Updated Curve D with Half Lives and C(168)

70 ;
X | Curve A (HT-A=5.2 h)
| —— Curve D (HT-D = 45.6 h)
60| E x Data Points
| ---- HTA=5.2h
50 i HT-D = 45.6 h
S |
sof |
[ !
o :
5 |
© 20+ l
10} \\N\ C_A(168) ~ 0.0
| C_D(168) z&
| X "
of | =
0 25 50 75 100 125 150 175

Time (T)



